
Telescope

Winding hole wall
T/p side

Reading “A”

119.402

Blinding 117.100 
O.S. Level
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Calculate “D” 
Concrete level from 
telescope sight line 

=  2.002m

+ “A” ……………………….. m

= ”D” ………………..………m

Calculate “E” 
Soil level from telescope 
sight line

=    2.302m

+”A” ………….….………m

= ”E”  ……………..……m

“E
” 

= 
2

.3
0

2
 +

 “
A

”

Date

Staff readings

Who……………………….

Sight line

Staff

Concrete 300mm thick

File:Surveying sheet for concrete 
level at Narrows using winding 
hole concrete wall T/P mark

O.S. Level

Concrete slab 
117.400 O.S. level


